

•

cm

Spur Gears
(a) To find
$$z_1$$
 and \overline{z}_2 :
(b) For 20° full depth system, select $(\overline{z}) = 18$,
(i) $(\overline{z}) = \overline{i} \times \overline{z}_1) = 2.5 \times 18 = 45 \rightarrow \bigcirc$
(ii) $(\overline{z}) = \overline{i} \times \overline{z}_1) = 2.5 \times 18 = 45 \rightarrow \bigcirc$
(iii) $(\overline{z}) = \overline{i} \times \overline{z}_1) = 2.5 \times 18 = 45 \rightarrow \bigcirc$
(iv) Calculation of module (m): B 2E
We know that, $\overset{0}{0} = (m) = \frac{2}{z_1 + z_2} = \frac{2 \times 136}{18 + 45} = 4.32 \text{ mm}$
From Table 5.8, the nearest higher standard module, $(\overline{a}) = 5 \text{ mm}$. (f)
(iv) Calculation of b, d_1 , v and y_2 :
 v Face width (f) $b = \psi \cdot a = 0.3 \times 157.5 = 47.25 \text{ mm}$.
 \checkmark Pitch diameter of pinion(\overline{d}_1):
 $\langle \psi = \frac{b}{d_1} = \frac{47.25}{90} = 0.525$.
(f) Selection of quality of gear:
From Table 5.22, for $(v) = 4.24$ m/s, IS quality 8 gears are selected. 5.42
(f) Revise of degram to fuel $\overline{b}, \overline{b}, \overline{c}, \overline{c}$



5.70

(ii) Check for bending : ✓ Calculation of induced bending stress for wheel σ_{b2} : $\sigma_{b1} \times y_1 = \sigma_{b2} \times y_2$ σ_{b1} and σ_{b2} = Induced bending stresses in the pinion and where wheel respectively, and y_1 and y_2 = Form factors for pinion and wheel respectively.

From Table 5.13, $y_2 = 0.471$, for $z_2 = 45$. $\sigma_{b1} = 85.89 \text{ N/mm}^2 \text{ and } y_1 = 0.377 \dots \text{ (already calculated)}$ $\left(\overline{\mathbf{b}}_{2} = \frac{\overline{\mathbf{b}}_{1} \mathbf{y}_{1}}{\mathbf{y}_{2}} \right)$ $85.89 \times 0.377 = \sigma_{b2} \times 0.471$.`. $\sigma_{b2} = 68.75 \text{ N/mm}^2$ or We find $\sigma_{b2} < [\sigma_b]_{wheel}$. Therefore *the design is satisfactory*. \checkmark

(iii) Check for wear strength: Since contact area is same, therefore σ_c wheel = σ_c pinion = 684.76 N/mm². Here $\sigma_{c \text{ wheel}} > [\sigma_{c}]_{\text{wheel}}$. It means, wheel does not have the required wear resistance. So, in order to decrease the induced contact stress, increase the face width (b) value or in order to increase the design contact stress, increase the surface hardness, say to 340 HB. Increasing the surface hardness will give [σ_c] = 2.3 × 340 × 0.879 = 687.34 N/mm². Now we find $\sigma_c < [\sigma_c]$. So the *design is safe and satisfactory*.

16. Calculation of basic dimensions of pinion and wheel: Refer Table 5.10.

Module : m = 5 mm \checkmark

B.22

5 39

- ✓ Face width : **b**= 47.25 mm
- Height factor : $f_0 = 1$ for full depth teeth. 8.22 \checkmark
 - Bottom clearance : $O = 0.25 \text{ m} = 0.25 \times 5 = 1.25 \text{ mm}.$
- Tooth depth : $(h = 2.25 \text{ m})^{822} = 2.25 \times 5 = 11.25 \text{ mm}.$ \checkmark
- \checkmark
- Pitch circle diameter : $d_1 = m \cdot z_1 = 5 \times 18 = 90 \text{ mm}$; and $d_2 = m \cdot z_2 = 5 \times 45 = 225 \text{ mm}.$ $d_{a1} = (z_1 + 2f_0) m = (18 + 2 \times 1) 5 = 100 \text{ mm}; \text{ and}$ $d_{a2} = (z_2 + 2f_0) m = (45 + 2 \times 1) 5 = 235 \text{ mm}$ $d_{f1} = (z_1 - 2f_0) m - 2c \quad 8.2c$ $g_{22} = (18 - 2 \times 1) 5 - 2 \times 1.25 = 77.5 \text{ mm}; \text{ and}$ Tip diameter : Root diameter : $d_{f2} = (z_2 - 2f_0) m - 2c 8 22$ = $(45 - 2 \times 1) 5 - 2 \times 1.25 = 212.5 \text{ mm}$



8.22 Psg



Design of Transmission Sparen

19

-

h

1

Spur Gears

(12) Revised design torque [M,] : DYI From Table 5.11, for $\psi = 0.6$, $\kappa = 1.03$. C+2 From Table 5.12, for IS quality 8, HB \leq 350 and $\nu = 3.77$ m/s, K_d = 1.55. C+1 $\left[\mathbf{M}_{t}\right] = \mathbf{M}_{t} \cdot \mathbf{K} \cdot \mathbf{K}_{d}^{8.15}$. . $= 63.66 \times 1.03 \times 1.55 = 101.63$ N-m [13.) Check for bending : Induced bending stress, $\sigma_b = \frac{i+1}{a \cdot m \cdot b \cdot y} [M_1]$ (2) (y) = 0.414, for $(z_1) = 24$, from Table 5.13. $(\overline{\sigma}_b) = \frac{(3+1)}{120 \times 2.5 \times 36 \times 0.414} \times 101.63 \times 10^3 = 90.9 \text{ N/mm}^2$ where .'. We find $\sigma_b < [\sigma_b]$. Thus the design is satisfactory. [14.] Check for wear strength : Induced contact stress is given by Check

$$\sigma_{c} = 0.74 \frac{i+1}{a} \sqrt{\frac{i+1}{ib} \times E_{eq} [M_{t}]} B^{.13}$$
$$= 0.74 \left(\frac{3+1}{120}\right) \sqrt{\left(\frac{3+1}{3\times 36}\right) \times 2.15 \times 10^{5} \times 101.63 \times 10^{3}}$$

= 701.71 N/mm²

We find $\sigma_c < [\sigma_c]$, thus the design is safe and satisfactory.

(15.) Check for plastic deformation :

 $M_t = Rated torque = 63.66 N-m$

... (already calculated)

Given that starting torque is 130% of rated torque.

 \therefore [M_t]_{max} = Maximum instantaneous torque = $1.3 \times M_t$

 $= 1.3 \times 63.66 = 82.758$ N-m

(i) Check for bending : Induced bending stress due to maximum instantaneous torque is given by

$$\sigma_{b \text{ max}} = \sigma_{b} \frac{[M_{t}]_{\text{max}}}{M_{t}} = 90.9 \times \frac{82.758}{63.66} = 118.17 \text{ N/mm}^{2} [\because \sigma_{b} = 90.9 \text{ N/mm}^{2}]$$

From Table 5.23, for steel HB \leq 350, permissible bending stress is given by

 $[\sigma_b]_{\text{max}} = 0.8 \sigma_y = 0.8 \times 540 = 432 \text{ N/mm}^2$

Since $\sigma_{b \max} < [\sigma_b]_{\max}$, the design is satisfactory. [:: $\sigma_y = 540 \text{ N/mm}^2$]

8.13

5.75

(ii) Check for wear strength : Induced contact stress due to maximum instantaneous torque is given by

$$\begin{array}{l}
\begin{array}{c}
\hline \sigma_{c \ max} = \sigma_{c} \times \frac{|M_{t}|_{max}}{M_{t}} & \stackrel{p \leftarrow 1}{\end{array} \\
= 701.71 \times \frac{82.758}{63.66} = 912.22 \ \text{N/mm}^{2} & [\because \sigma_{c}] = 701.71 \ \text{N/mm}^{2}] \\
\end{array}$$
From Table 5.24, for steel HB \leq 350, permissible contact stress is given by
$$[\sigma_{c}]_{max} = 3.1 \sigma_{y} = 3.1 \times 540 = 1674 \ \text{N/mm}^{2} \\
\end{array}$$
Since $5_{max} < \{\sigma_{c}\}_{max}$, the design is safe and satisfactory against plastic deformation also.

16. Basic dimensions of pinion and gear : Refer Table 5.10.

16. Basic dimensions of pinion and gear : Refer Table 5.10.

17. Module : $m = 2.5 \ \text{mm}$

17. Height factor : $f_{0} = 1$

17. Bottom clearance : $c = 0.25 \ m = 0.25 \times 2.5 = 0.625 \ \text{mm}$

17. Tooth depth : $f_{0} = 2.25 \ m = 2.25 \times 2.5 = 5.625 \ \text{mm}$

17. Tip diameter : $a \geq 2$

17. Tip diameter : $a \geq 2$

17. Root diameter : $a \geq 2$

17. Root diameter : $a \geq 2$

17. Root diameter : $a \geq 2$

17. $a = (24 - 2 \times 1) \ 2.5 = 185 \ \text{mm}$.

Example 5 21

2.2-P50